1.

=0

3

2\/§x2—x—

<

@ 1

— |

® -

® -1

<

D -



2. OIAEA 2+ (0t Dx+a-5 =00 5 AZE p, polzk e,
a+pB+p*° #2?

© -3 @ -1 ® 0 @1 ® 3



shelat.

:[L

Ol AP A] 42 — 14kx + 96k = 00] 5 20] W7} 3 ; 4 o, 4 k]
O
=

s

3.

.

ul



o x2—(2a+1)x+2 = 0

St
=

OIAMYHA 2 —ax+b =09 F T2 e, Bt

4.

TIHA L.

O
=

a1 B apolth. olml, &+ 5] &

i



12_
- =
a

ail s
ot

=09 F 2o gt

Ol x* —2x+3

5.

S o
Il Il
IO
+ |
= =
Al KaplaN M Ean]
| |
(o] [a\}
= =

[

H N |enF ™
+ o+
= = =
+ o+ o+
™ ™ ™
= = =
Q@ © ©



A, B Aol ojap7g 4]
R Qo] 49178 BEcE
gl F 29 o= Fstofzt

B
2

ax’ +bx+c =02 g AE=1rE
5 9ol -3+ V2iE 222 A

1 —



=
nn

A% Ho}

=
=

WAL ax? +bx +c =094 b
ZE "ol -1, 49]

ojxHy

QA ¢

7.

=
=

sholat,

:[L

b

C
=

a



2
I x
fre]a¢l o

7h

Al

]_
b =
—ax+
ro9
o] Fh2
o, ab

olt
ry

'
°l2+ V3 &

r

@ 0
@ -3 o
@ 4



S oIAYABA ¥+ 2(m-2)x+2m -1 = 09] F o] BF
=54 ©, A4 m O] go] HelE ok
O m>5 @ m=5 ® m<5
@ m<5



10.

=~

A A 4 (m+ 2)a% +m+5=00] A2 THE ] o] AZg
27] 93 A% m 2 32 MG

@ o7 @ 174 @ 274 @ 371 ® 47



